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Que:1 Choose the correct option and rewrite the answer of the followmg [10]
-1 1dmis equalto .
(@) 10em” " (b) 1.0cm (c}) 0.1 cm (d) 100 cm.
2 Optical isomers that are mirror images of each other are
called .
{a) Tautomers (b) Diastereomers
(c) Enantiomers (d) Metamers
3 Which of the following compound is used as an excellent humectants?
(a) Nitro glycerol (b) Picric acid
{c) Ethylene glycerol (d} Glycerol
4 Which of the following has highest boiling point ?.
(a) Diethyl ether (b) N-propy! chloride
(c) N-butyraldehyde - {d) N-buty! alcohol
5 Aceto acetic ester can be prepared by '
(a) Aldol condensation (b) Claisen condensation
(c) Witting reaction - (d) Hinsberg reaction
6 Which of the following is stereoselective reagent?
{a) KMnO, (b) 9-B.B.N
(c) AlO4 | (d) LiAIH, .
7 Which of the following compound undergo for aldo! condensatlon?
(a) Benzaldehyde (b) Formaldehyde
(c) Di aryl Ketone {d) Acetone
8 Which of the foilowing is not carboxylic acid?
(a)Picric acid (b) Acetic acid
(c) Adipic acid (d) Malonic acid
9 Which of the following reaction is suitable for the synthesis of

10

salicyladehyde? |
(a) Kolbe reaction (b)Reimer- Tiemer reaction
(c) Gatterman reactior; (d) Claisen condensation

Which of the following reaction is useful to prepare a-halo carboxylic
acid?

(a) Myron Bender reaction (b) Reformatsky'rection
(c) Hell-Volhard-Zelinsky (d) Cross-Claisen condensation
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Answe the following. [Any ten] [20]
Explain: Cyclopentane is a planar conformation.
Eclipsed conformation of ethane is less stable than staggered
conformation, Explain.
Define the terms: Enantiomer and Diastereomer.
Give the synthesis of 3- methyl-1- butene from methanol and isobutyl
alcohol.
Tert-alkyl halide cannot used in Wlthamson ether synthesis. Explain
Write a note on based catalyzed cleavage of epoxide.
Phosphorus ylides are.used in wittig reaction. Explain
Aldehyde generally undergo nucleophilic addstion more readly than
Ketone. Explain
Define iodoform test with itlustration.
v-chlorobutyric acid is weak acid than f-chlorobutyric acid. Explain
Define Kolbe reaction with itlustration.
Carboxylic acid has higher boiling point than aicohol, Explam
Define "Conformation.” Draw all Newman formula of conformation of  [10]
n- butane, resulting from rotation about C,-C; bond through 60°.
Name all the conformations and arrange them into the increasing
order of their stability. And also discuss the factors affecting the
stability of conformation.
OR

State and explain the Sequence rules of R & S configuration with [10]
suitable illustrations. Draw all possible conformational isomers of
cyclohexane and arrange the stability order of the foliowing
conformation .

(i) Twist boat  (ii) Chair ({iii) Half chair.
Answer the following.
Give the detail stepwise reaction mechanism of Pinacol- pinacolone  [05]
rearrangement.

Write the synthesis of glycerol from propene via halohydrin formation  [05]
and also give the uses of ethylene glycol.

OR
Answer the following. :
Give the detail stepwise reaction mechanism of acid- catalysed [05]
cleavage of epoxide.
Draw structure of all isomeric alcohol having molecular formula [05]

CsH1;O and write the IUPAC name and classify them as 1°, 2°and

3°alcohol. @
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Answer the following.
Discuss the action of Nitrous acid on various Aliphatic and Aromatic
Amine,
Write reaction mechanism for Acid-catalyzed halogenations of
Acetone.
OR
Answer the following,
Complete the following reaction and give appropriate mechanism of
Two moles of Acetone NaOH | 7?
Draw the structure of all isomeric amine having molecular formula

C4HyiN Classify them as 1°,_2°, & 3°amine and write the IUPAC names.

Answer the following.
Write the detail stepwise mechanism of Gatterman synthesis.
What is Trans esterification ? Give mechanism of Acid - catalyzed
trans esterification.
OR

Answer the following.
Complete the following reaction and give appropriate detail
mechanism of

Iso- propyl benzene O, 7P HO/H ? + 7

Write the synthesis for the following,
(i) Valeric acid from malonic ester
(ii) Picric acid from chlorobenzene.
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Wil Al il [@sey uals s sl avil, [10]
1 1dm=

(A) 102 (b)1.084 () 0.1 Al (d) 100 330

2 usle qnE2sl 3 B Asehon-t wlalbiled du d g sdan ? -

(a) 2d3ud (b) Rlot~t vasig wxe2d),
(c) wlalzildiad ' (d) uxinses
3 DAl sy e Al A3 dleg danes 5
(@) usd Beudy (b) fugls Afus
(c) Slhell daida (d) Baudg
4 AARuial A Gesenlig Al sl & 7
(a) Auduidd dur {b) N-Uruisa seilziels
(c) N-oydluedelss {d) N-oyaa vicsldld
5 A wifads sk Au oendl usar
{a) vedd san (b) } 582 Asast
(c}) R wlia (d) [aroof
6 ~lArumieh sl [Redlad) udsdla wlzus &0
(a) KMnO, (b) 9-B.B.N
(c) Al,O, (d) LiAlH,
7 -NA-tniedt 5y 2o vieda dsart wan wuud 1
(a) el eiss (bt) sl e
{c) st wluda (3an (d) 2l
8 DAruxixl Slo sell3afs g ol 2
(a)fusls wius (bl) s Aus
{c) 23Ul 23 (d) Aelrlls us
9 NA-uniel 56 w3 Alafhenlzseid s, 2sdvoy i3 dloy § 7
(a) Slest wlzan (bJudHz-a185mz wlkul
(c) dlevdtet wlws {d) sARirt 2sest
10 DAl 56 uBa a- &l swilbals S\ ot 3 Gusiol &7
() M ovsr wluy - (b) A819A%4 wlbul
(c) Be-dlestd el wu gl (d) Slu-sA-t Asan
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A A ool 2l A6 vl e [20]
Aol Hse) Read Al SleslRReA B,

9] S5l Aeglofad ¥ 2af Aefafad sl 2l 2l 8.

yg) cqvaiid s wlalGiei, Rt mase ynuesl.

FA-ld vl 2060 o426 2iesdanial 3-Radd-1-0yR - dadua il
[alaumud duz dsddumi 23- 2iesidd St Gudol udl e, wuadl,
A G51us e SIS vige w2 e qul,

flélar ulBuiHi Slwdlay Saidsl Gualar iy o, umesdl.

g virRoll Aasle wlkae (A sl vuedids ag mall Ul &, wiwdl.
A5 5218l Gerea il eyl 5.

v-5@idl 642185 WS A B- sl eyails RS sl (Hofar R(AS &, anend).
Slea) ulBu Gelea A8l eqpeiflgd 53,

- sioiflulas wWEs Gosadlbig wesidld sl 64 8.

AR ariell ey il n-ogintl G, AR Cy o) 60° WRana sl wadi [10]
SRR YA YAL A, A U vl el eufleartl Agdl sl sl
2, el UR R Sl wWRs) Anond.
_ vyl
R-S [Ari g s3ell (R oguel 2, dlou Gerseall st Aol A5l {10]
E5rirll Aot SLeSlatlard uHu2 gl AR, Al2AsL SlesteRatel A28l il
PR IR
(i) eclize A
(if) A
(ifi) e1g A2

AL ool B, -
(Urtsla- eusidin uta Gulald dossar wd, [05]
WU Beydar Asang delletdiq ugld 43 avl wa SRl scqislay  [05]
GuUlofl s,

»yd)
(AL o] ),
A3 Geus il Sulsed 3 visnel DafEl dotssian suul, [05]
CsH120 Yot qtdal wiesldlad Axu2 sl olrRell @l dus IUPAC i »idy  [05]
w1 dxA 17, 2%,3° suesidiani aollseu 53,
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(a) et el A3 s wARANA S A U2 o ARel] via A [05]
(b) AR AU Gusla s uliuedl Bl avl (05])
wd)
WS LA ggel 2,
(@) DA ulbu yal 52 w1 dlou ugRlk sy, [05]
o e AU NaOH , ?
(b) C4Hy N 28t dAdd Musseiel oty w829, ofnn) qull, 3 1° 2°3° [05]

Wil qaffsRe 53 1L IUPAC < 48]

W6 AlaAie el v,

(a) dleediet a=quadl dolssian R av. [05]
(b) 214 »eeflsenr wled of 7 3RS Sl oivat Dot sl (Bl vl [05]
Yy

W6l ool w),
(@) -0 ik wal 53 A oy (R yliadz i, [05]
Ul WuLde Al 0, 2 H,0/H', 2 + 2

(b) DAy 2zdnw i), [05]
(i) HellRis Vlazeuieh dadls B3
(if) sel aloinisll (35 L
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